Graphing Polynomials Practice
Example: P(x)=x* —x* —4x+4

a) Find the zeros by factoring.
P(x)=(x*—x")+(~4x+4)
P(x) =x° (x —1)4 4(x— 1)
P(x)= (x2 - 4Xx ~1)
Plx)=(x+2Yx—2)x~1)

b} Determine end behavior.

As x = 40, P(x) — 40,
As x ——0, P(x) > —x.

Name:

Factor by groupling because the
poly nonital has 4 terms,

Set Px) = 0 and solve.

The zevos of P{x) are -2, 2, and 1.

[

Beoause the leading coeffielent is
positive and the degree Ls odd, the
graph should o up on the right
and doww on the Left,

¢) Find the y intercept by plugging in zero for x.

(0,4)

d) Plug in x values between the zeros to find | g v -1 andl £.5 for X.

local maxima.

Plot the resulting ordered
nabrs, (-1, &) and (1.5,
O.8F5),

b

e) Connect all the points in a smooth curve and you are done!

Graph each of the following below by following the steps above.

1. Plx)=x'—2x* —3x
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2. Plx)=-2x*—x* +3x° ”
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3. P(x) =x"(x- 2 (x+1)
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Pre-Calculus Name: \40‘1
Section 2.1 to 2.3 Review

Evaluate, Write answer in a + bi form,

- L 3 L”" ‘1"3(:
1) (61:;1)\(1 ‘3 LR —(;_-:L) ST 3 (5 — 60 — (347D

Jb %\

4+i - :
~_ - : 5- (ol. -4 -
?-tl;': - 1O ‘t-j l‘l—Sc_ 3-7¢
~{§-27,-10(-D) \7
Find all solutions to the equation. Use factoring, quadratic, etc Write answer in a + bi form.

A=-3 b=y C=-C
4) 49x*+16=0 5.) 3x% =4x-6
e ~lt r" &_\EF {\F-ac

0=-3)24dy- b %= -2
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6-7 Fill in all of the reguested information and draw a graph of theTunction.
oL TS
6.) fix) =2 +x+12 " Za T 2> 12 7) ) = (x + 4 +6
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8.) When a football is kicked, the height of the football, in feet, can be modeled by
f(x)=-0.04x> +2.3x+1.5, where x is the horizontal distance, in feet, from the

point of impact with the kickers foot. What is the maximum height of the punt
and how far from the point of impact does this occur? If the ball is not blocked,
how far down the field will it go before hitting the Tield?

A=-0.04 p=2.3 =15

Max Height: __3"_’*56 ’F t

T - + a2 N S L
X ..2;3 i JQ'?) ~q{-00u)(1.5) How far from impact did it occur: M L5751
2(-0.04)
How far down the field will it go: 5.125 ft
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